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1) The term ‘Conservative Surgery’ in town planning was coined by
(A) Ebenezer Howard (B) Peter Walker
(C) Sir Patrick Geddes (D) Baron Hauffman

2) Which of the following is not a form of Town Plan in Ancient India?
(A) Dandaka (B) Vishvakarma
(C) Padmaka (D) Nandyavarta

3) ‘Ekistics’, the Science of Human Settlement was coined by
(A) Patrick Geddes (B) Ebenezer Howard
(C) Doxiadis C.A. (D) Le-Corbusier

4) NCU stands for
(A) National Commission on Urbanisation
(B) National Commission on Urban Growth
(C) National Commission on Urban Change
(D) None of the above

5) WhichTown among the following indicates the first stage of decline?
(A) Metropolis (B) Megalopolis
(C) Tyrannopolis (D) Necropolis

6) The evidence of Town formation was found during the
(A) Middle age (B) Iron age
(C) Bronze age (D) New age

7) Which city is called as the Manchester of Harappan civilization?
(A) Lothal (B) Kalibangan
(C) Ropar (D) None of the above
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8) Which of the following Harappan Cultural sites are not correctly matched with
their places of existence?
(A) Alamgirpur - Uttar Pradesh (B) Daimabad - Maharashtra
(C) Banawadi - Haryana (D) Rakhigarhi - Rajasthan

9) The largest site of Indus Valley civilization was in
(A) Rakhigarhi (B) Alamgirpur
(C) Daimabad (D) Banawali

10) New stone age is also known as
(A) Paleolithic (B) Neolithic
(C) Mesolithic (D) None of the above

11) Who said Sociology is the “Science of Social Institution”?
(A) Auguste Comte (B) Max Weber
(C) Durkheim (D) Maclver & Page

12) Which school played the most prominent part in the development of Urban
Sociology?
(A) Functional School (B) Frankfurt School
(C) Marxist School (D) Chicago School

13) Which was the first country to allow women to vote?
(A) Saudi Arabia (B) India
(C) Russia (D) New Zealand

14) What is the meaning of the term ‘Socious’ in the word Sociology?
(A) Companion (B) Collection
(C) Herd (D) Consensus

(P.T.O.)
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15) Match the following

a. Fixing people into one image i. Prejudice

b. Judging other people negatively ii. Untouchability

c. Treating someone less fairly than others iii. Stereotype

d. Practicing purity and pollution iv. Discrimination

Select the correct option.
(A) a-iii, b-i, c-iv, d-ii
(B) a-i, b-iv, c-ii, d-iii
(C) a-iv, b-iii, c-ii, d-i
(D) a-ii, b-iii, c-i, d-iv

16) A Megacity has a population of
(A) More than 1 million people (B) More than 10 million people
(C) More than 100 million people (D) More than 1 billion people

17) A ‘Household’ refers to
(A) A group of persons who normally live together and take their meals from

a common kitchen.
(B) A group of persons who normally live and working together
(C) Both (A) and (B)
(D) Only (B)

18) Which combination of factors will produce the highest rate of population
growth?
(A) High life expectancy and high infant mortality
(B) Low life expectancy and low infant mortality
(C) Low life expectancy and high infant mortality
(D) High life expectancy and low infant mortality
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19) Population’s growth rate is determined by births, deaths plus _________.
(A) Immigration and emigration. (B) Immigration and occupation.
(C) Migration and standard of living. (D) Immigration and quality of life.

20) Which of the following is the Literacy rate of India according to 2011 census?
(A) 74.04% (B) 74.44%
(C) 74.14% (D) 74.84%

21) Which of the following relationship explains the Law of Demand?
(A) Income and Price of a commodity
(B) Price and Quantity of a commodity
(C) Income and Quantity Demanded
(D) Quantity Demanded and Quantity Supplied

22) What do you mean by Gross National Product?
(A) The total value of goods and services produced in the country.
(B) The total value of all the transactions in the country.
(C) The depreciation in the total value of goods and services produced in the

country.
(D) The total value of goods and services produced in the country and the

net factor income from abroad.

23) The trade-off between Unemployment and Inflation is explained with the help
of which curve?
(A) Ricardian (B) Marshall’s
(C) Phillips (D) Edgeworth’s

24) Which type of economy does India have?
(A) Capitalist Economy (B) Socialist Economy
(C) Mixed Economy (D) Communist Economy
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25) With reference to Human Development Index, which of the following is not
used as an indicator?
(A) Gender Inequality
(B) Education or access to knowledge
(C) Life Expectancy
(D) Decent standard of living

26) TOD stands for
(A) Transit Oriented Development
(B) Term Oriented Development
(C) Transfer Of Development
(D) Transit Operated Development

27) The term NGT refers to
(A) National Growth Technology
(B) National Growing Terminology
(C) Net Growth Temperature
(D) National Green Tribunal

28) What is the full form of NUTP?
(A) National Urban Transport Plan
(B) National Urban Transportation Plan
(C) National Urban Transportation Policy
(D) National Urban Transit Plan

29) NITI Aayog stands for :
(A) National Institution for Transforming India
(B) National Institute for Transporting in India
(C) National Institute for Training in India
(D) National Institute for Traffic in India
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30) What are Statutory Towns?
(A) Notified under law by the concerned State / UT Government and have

urban local bodies.
(B) Temporary settlements created for special purpose like construction of

dam.
(C) Towns on the periphery of Metropolitan Cities.
(D) Proposed Greenfield Townships.

31) As per the 12th schedule of the 74th CAA, the Urban Planning is a function of
which of the following?
(A) Panchayat Raj Institutions (B) Urban Local Bodies
(C) Development Authorities (D) Town Planning Department

32) Which of the following parts of the constitution is/are Non-Justiciable by the
courts?
1. Fundamental Rights
2. Fundamental Duties
3. Directive Principles of State Policy
Select the correct answer using the code given below.
(A) 1 and 3 only (B) 2 only
(C) 2 and 3 only (D) 1, 2 and 3

33) Which Article of 74th CAA provides for the constitution of MPCs?
(A) 241 ZE (B) 243 ZE
(C) 244 ZE (D) 237 ZE

34) Who is the guardian of Fundamental Rights as per the Indian Constitution?
(A) The Parliament (B) The President
(C) The Constitution (D) The Supreme Court
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35) Which of the following statements regarding Democracy is/are correct?
1. It is a form of government that guarantees economic development.
2. It seeks to promote and accommodate social diversity.
3. It aims to promote the dignity and freedom of its citizens.
Select the correct answer using the code given below.
(A) 1 and 3 only (B) 2 and 3 only
(C) 2 only (D) 1 and 2 only

36) The building stones are categorized by analyzing the Rocks under
(A) Geological Classification
(B) Physical Classification
(C) Chemical Classification
(D) All the above three Classifications

37) LEED certification rating in the area of architecture is for
(A) Green buildings (B) Green city planning
(C) Smart city planning (D) None of the above

38) Which statement is correct regarding PMAY- Housing for All (Urban) Mission
i. It aims at providing housing for all by 2022
ii. Beneficiaries will be identified based on Socio-Economic and Caste

Census (SECC 2011)
iii. Beneficiary will be identified by the local planning authority.
Identify the correct statements.
(A) Only i (B) Only ii
(C) Both i and ii (D) Both ii and iii

39) Combining two or more plots as a single plot is called:
(A) Amalgamation (B) Bifurcation
(C) Frontage (D) Building setback



M-2312 [9] (P.T.O.)

40) Which is not a public mode of transport?
(A) MRTS (B) BRTS
(C) LRTS (D) CAR

41) “Bypass Road” means
(A) A road provided as a permanent diversion to a scheduled road, such

diversion is situated within or without the limits of Local Authority.
(B) A road provided as a Temporary diversion to a unscheduled road, such

diversion is situated within or without the limits of Local Authority
(C) Both (A) & (B)
(D) Only (B)

42) Which of the following is not a characteristic of slums?
(A) Lack of basic services
(B) Overcrowding and high density
(C) Poverty and social exclusion
(D) Planned Growth and Development

43) Water bearing strata below the natural ground is called as
(A) Water table (B) Folds and Faults
(C) Galaxy (D) Aquifer

44) Mobility pattern in traffic and transport planning can be derived from
(A) Volume survey (B) Demographic survey
(C) Engineering survey (D) Origin and Destination survey

45) Number of vehicles occupying a unit length of a road  is called
(A) Traffic volume (B) Traffic density
(C) Traffic speed (D) All of the above
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46) High rise building means as per NBC
(A) Building with 15m or above in height
(B) Building with 15m or below in height
(C) Both (A) & (B)
(D) Only (B)

47) S.E.Z. in Urban and Regional planning stands for
(A) Special Entrepreneurship Zone (B) Spatial Entrepreneurship Zone
(C) Special Economic Zone (D) Sensitive  Environment  Zone

48) According to the land use planning of Karnataka master plan, blue color code
represents a space used for
(A) Commercial purpose (B) Public utilities and services
(C) Public and semipublic purpose (D) None of these purposes

49) In a low cost housing construction, CSEB refers to:
(A) Compressed Stabilized Earth Blocks
(B) Complete Stress Earth Block
(C) Compressed Standard Earth Block
(D) Complete Stabilized Earth Block

50) Concept of Neighbourhood plan in the urban referred to
(A) Residential area planning
(B) Commercial area planning
(C) Industrial area planning
(D) None of these


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Note : English version of the instructions is printed on the front cover of this booklet.

C s̈ÀåyðUÀ½UÉ ̧ ÀÆZÀ£ÉUÀ¼ÀÄ
 1. N.JA.Dgï. GvÀÛgÀ ºÁ¼ÉAiÀÄ eÉÆvÉUÉ 50 ¥Àæ±ÉßUÀ¼À£ÀÄß ºÉÆA¢gÀÄªÀ ªÉÆºÀgÀÄ ªÀiÁrzÀ ¥Àæ±Éß

¥ÀÄ À̧ÛPÀªÀ£ÀÄß ¤ªÀÄUÉ ¤ÃqÀ̄ ÁVzÉ.
 2. PÉÆnÖgÀÄªÀ ¥Àæ±Éß ¥ÀÄ À̧ÛPÀªÀÅ, ¤ÃªÀÅ ¥ÀjÃPÉëUÉ DAiÉÄÌ ªÀiÁrPÉÆArgÀÄªÀ «µÀAiÀÄPÉÌ À̧A§A¢ü¹zÉÝÃ

JA§ÄzÀ£ÀÄß ¥Àj²Ã°¹j.
 3. ¥Àæ±Éß ¥ÀwæPÉAiÀÄ ªÉÆºÀgÀ£ÀÄß eÁUÀævÉ¬ÄAzÀ vÉgÉ¬Äj ªÀÄvÀÄÛ ¥Àæ±Éß¥ÀwæPÉ¬ÄAzÀ N.JA.Dgï. GvÀÛgÀ

ºÁ¼ÉAiÀÄ£ÀÄß ºÉÆgÀUÉ vÉUÉzÀÄ, N.JA.Dgï. GvÀÛgÀ ºÁ¼ÉAiÀÄ°è ¸ÁªÀiÁ£Àå ªÀiÁ»wAiÀÄ£ÀÄß vÀÄA©j.
PÉÆnÖgÀÄªÀ ̧ ÀÆZÀ£ÉAiÀÄAvÉ ¤ÃªÀÅ £ÀªÀÄÆ£ÉAiÀÄ°è£À «ªÀgÀUÀ¼À£ÀÄß vÀÄA§®Ä «¥sÀ®gÁzÀgÉ, ¤ªÀÄä GvÀÛgÀ
ºÁ¼ÉAiÀÄ ªÀiË®åªÀiÁ¥À£À ¸ÀªÀÄAiÀÄzÀ°è GAmÁUÀÄªÀ ¥ÀjuÁªÀÄUÀ½UÉ ªÉÊAiÀÄQÛPÀªÁV ¤ÃªÉÃ
dªÁ¨ÁÝgÀgÁVgÀÄwÛÃj.

 4. ¥ÀjÃPÉëAiÀÄ ̧ ÀªÀÄAiÀÄzÀ°è:
a) ¥ÀæwAiÉÆAzÀÄ ¥Àæ±ÉßAiÀÄ£ÀÄß eÁUÀævÉ¬ÄAzÀ N¢j.
b) ¥Àæw ¥Àæ±ÉßAiÀÄ PÉ¼ÀUÉ ¤ÃrgÀÄªÀ £Á®ÄÌ ® s̈Àå DAiÉÄÌUÀ¼À°è CvÀåAvÀ À̧jAiÀiÁzÀ/ À̧ÆPÀÛªÁzÀ

GvÀÛgÀªÀ£ÀÄß ¤zsÀðj¹.
c) N.JA.Dgï. ºÁ¼ÉAiÀÄ°è£À À̧A§A¢ü¹zÀ ¥Àæ±ÉßAiÀÄ ªÀÈvÁÛPÁgÀªÀ£ÀÄß À̧A¥ÀÆtðªÁV vÀÄA©j.
GzÁºÀgÀuÉUÉ, ¥Àæ±Éß ¥ÀwæPÉAiÀÄ°è ¥Àæ±Éß ̧ ÀASÉå 8PÉÌ “C” ̧ ÀjAiÀiÁzÀ GvÀÛgÀªÁVzÀÝgÉ, ¤Ã°/PÀ¥ÀÄà ̈ Á¯ï
¥Á¬ÄAmï ¥É£ï §¼À¹ N.JA.Dgï. GvÀÛgÀ ºÁ¼ÉAiÀÄ PÀæªÀÄ À̧ASÉå 8gÀ ªÀÄÄAzÉ F PÉ¼ÀV£ÀAvÉ
vÀÄA©j:
¥Àæ±Éß À̧ASÉå 8.                (GzÁºÀgÀuÉ ªÀiÁvÀæ) (¨Á¯ï ¥Á¬ÄAmï ¥É£ï ªÀiÁvÀæ G¥ÀAiÉÆÃV¹)

 5. GvÀÛgÀzÀ ¥ÀÆªÀð¹zÀÝvÉAiÀÄ §gÀªÀtÂUÉAiÀÄ£ÀÄß (avÀÄÛ PÉ® À̧) ¥Àæ±Éß ¥ÀwæPÉAiÀÄ°è MzÀV¹zÀ SÁ° eÁUÀzÀ°è
ªÀiÁvÀæªÉÃ ªÀiÁqÀ̈ ÉÃPÀÄ (N.JA.Dgï. GvÀÛgÀ ºÁ¼ÉAiÀÄ°è ªÀiÁqÀ̈ ÁgÀzÀÄ).

 6. MAzÀÄ ¤¢ðµÀÖ ¥Àæ±ÉßUÉ MAzÀQÌAvÀ ºÉZÀÄÑ ªÀÈvÁÛPÁgÀªÀ£ÀÄß UÀÄgÀÄw À̧̄ ÁVzÀÝgÉ, CAvÀºÀ GvÀÛgÀªÀ£ÀÄß
vÀ¥ÀÄà JAzÀÄ ¥ÀjUÀtÂ̧ À̄ ÁUÀÄvÀÛzÉ ªÀÄvÀÄÛ AiÀiÁªÀÅzÉÃ CAPÀªÀ£ÀÄß ¤ÃqÀ̄ ÁUÀÄªÀÅ¢®è. N.JA.Dgï.
ºÁ¼ÉAiÀÄ°è£À GzÁºÀgÀuÉ £ÉÆÃr.

 7. C s̈Àåyð ªÀÄvÀÄÛ PÉÆoÀr ªÉÄÃ°éZÁgÀPÀgÀÄ ¤¢ðµÀÖ¥Àr¹zÀ ̧ ÀÜ¼ÀzÀ°è N.JA.Dgï. ºÁ¼ÉAiÀÄ ªÉÄÃ É̄ ̧ À»
ªÀiÁqÀ̈ ÉÃPÀÄ.

 8. C s̈ÀåyðAiÀÄÄ ¥ÀjÃPÉëAiÀÄ £ÀAvÀgÀ PÉÆoÀr ªÉÄÃ°éZÁgÀPÀjUÉ ªÀÄÆ® N.JA.Dgï. GvÀÛgÀ ºÁ¼É ªÀÄvÀÄÛ
«±Àé«zÁå¤®AiÀÄzÀ ¥ÀæwAiÀÄ£ÀÄß »A¢gÀÄV À̧̈ ÉÃPÀÄ.

 9. C s̈ÀåyðAiÀÄÄ ¥Àæ±Éß ¥ÀÄ À̧ÛPÀªÀ£ÀÄß ªÀÄvÀÄÛ N.JA.Dgï. C s̈ÀåyðAiÀÄ ¥ÀæwAiÀÄ£ÀÄß vÀªÀÄä eÉÆvÉ vÉUÉzÀÄPÉÆAqÀÄ
ºÉÆÃUÀ§ºÀÄzÀÄ.

 10. PÁå®ÄÌ̄ ÉÃlgï, ¥ÉÃdgï ªÀÄvÀÄÛ ªÉÆ É̈Ê̄ ï ¥sÉÆÃ£ïUÀ¼À£ÀÄß ¥ÀjÃPÁë PÉÆoÀrAiÀÄ M¼ÀUÉ C£ÀÄªÀÄw À̧̄ ÁUÀÄªÀÅ¢®è.
 11. C s̈ÀåyðAiÀÄÄ zÀÄµÀÌøvÀåzÀ°è vÉÆqÀVgÀÄªÀÅzÀÄ PÀAqÀÄ§AzÀgÉ, CAvÀºÀ C s̈ÀåyðAiÀÄ£ÀÄß PÉÆÃ¸ïðUÉ

¥ÀjUÀtÂ̧ À̄ ÁUÀÄªÀÅ¢®è ªÀÄvÀÄÛ ¤AiÀÄªÀÄUÀ¼À ¥ÀæPÁgÀ CAvÀºÀ C s̈ÀåyðAiÀÄ «gÀÄzÀÞ PÀæªÀÄ PÉÊUÉÆ¼Àî̄ ÁUÀÄªÀÅzÀÄ.
 12. F ¥ÀæªÉÃ±À ¥ÀjÃPÉëAiÀÄ°è CºÀðgÁUÀ®Ä MlÄÖ 50 CAPÀUÀ¼À°è SC/ST/Cat-I C s̈ÀåyðUÀ¼ÀÄ PÀ¤µÀÖ 8

CAPÀUÀ¼À£ÀÄß, OBC C s̈ÀåyðUÀ¼ÀÄ PÀ¤µÀ× 9 CAPÀUÀ¼À£ÀÄß ªÀÄvÀÄÛ E¤ßvÀgÀ C s̈ÀåyðUÀ¼ÀÄ PÀ¤µÀÖ 10
CAPÀUÀ¼À£ÀÄß ¥ÀqÉAiÀÄvÀPÀÌzÀÄÝ.

N.JA.Dgï. ºÁ¼ÉAiÀÄ£ÀÄß vÀÄA§®Ä À̧ÆZÀ£ÉUÀ¼ÀÄ
 1. ¥ÀæwAiÉÆAzÀÄ ¥Àæ±ÉßUÉ MAzÉÃ MAzÀÄ CvÀåAvÀ ̧ ÀÆPÀÛªÁzÀ/ À̧jAiÀiÁzÀ GvÀÛgÀ«gÀÄvÀÛzÉ.
 2. ¥Àæw ¥Àæ±ÉßUÉ MAzÀÄ ªÀÈvÀÛªÀ£ÀÄß ªÀiÁvÀæ ¤Ã° CxÀªÁ PÀ¥ÀÄà ¨Á¯ï ¥Á¬ÄAmï ¥É£ï¤ßAzÀ ªÀiÁvÀæ

vÀÄA§vÀPÀÌzÀÄÝ. GvÀÛgÀªÀ£ÀÄß ªÀiÁ¥Àðr À̧®Ä ¥ÀæAiÀÄwß À̧̈ ÉÃr.
 3. ªÀÈvÀÛzÉÆ¼ÀVgÀÄªÀ CPÀëgÀªÀÅ PÁt¢gÀÄªÀAvÉ ªÀÈvÀÛªÀ£ÀÄß ̧ ÀA¥ÀÆtðªÁV vÀÄA§ÄªÀÅzÀÄ.
 4. N.JA.Dgï. ºÁ¼ÉAiÀÄ°è AiÀiÁªÀÅzÉÃ C£ÁªÀ±ÀåPÀ UÀÄgÀÄvÀÄUÀ¼À£ÀÄß ªÀiÁqÀ̈ ÉÃr.
 5. GvÀÛj¹zÀ ¥Àæ±ÉßUÀ¼À MlÄÖ ̧ ÀASÉåAiÀÄ£ÀÄß O.M.R. ºÁ¼ÉAiÀÄ°è ¤UÀ¢¥Àr¹gÀÄªÀ eÁUÀzÀ°è £ÀªÀÄÆ¢ À̧vÀPÀÌzÀÄÝ,

E®èªÁzÀ°è O.M.R. ºÁ¼ÉAiÀÄ£ÀÄß ªÀiË®åªÀiÁ¥À£ÀPÉÌ ¥ÀjUÀtÂ̧ ÀÄªÀÅ¢®è.
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